=)
PEJO

ERSATZTEILE ::: SPARE PARTS



{ )]

SPARE PARTS BEIJIC

Replacement aftermarket parts for Stihl

OEM No.

1120 195 1600

Starterfeder passend fir Stihl 009 / 010 / 011
Rewind spring replaces Stihl 009 / 010 / 011

OEM No. Starterfeder passend fir Stihl 021 /023 /029 /
039

1129 190 0601 Rewind spring replaces Stihl 021 / 023 / 029 /
039

OEM No.
1118 190 0600

Starterfeder passend fir Stihl 024 / 026 / 028
/032

Rewind spring replaces Stihl 024 / 026 / 028
/032

OEM No. Starterfeder passend fiir Stihl 038 / 041 / 050
/051

1117 190 0601 Rewind spring replaces Stihl 038 / 041 / 050
/051

OEM No.

1113 195 1600

Starterfeder passend fir Stihl 030 / 031
Rewind spring replaces Stihl 030 / 031

OEM No. Starterfeder passend fiir Stihl 041 / 051

Rewind spring replaces Stihl 041 / 051
1111 195 1600

Page 1 of 100



)]

{
SPARE PARTS BEIS

Replacement aftermarket parts for Stihl

OEM No. Starterfeder passend fur Stihl 044 / 066 OEM No. Starterfeder passend fur Stihl 064 / MS 640

Rewind spring replaces Stihl 044 / 066 Rewind spring replaces Stihl 064 / MS 640
1128 190 0600 1122 190 0600

OEM No. Starterfeder passend fir Stihl 045 OEM No. Starterfeder passend fir Stihl 070 / 08
Rewind spring replaces Stihl 045 Rewind spring replaces Stihl 070 / 08
1115 190 0600 1106 190 0600

OEM No. Starterfeder passend fiir Stihl MS 271 / OEM No. Starterfeder passend fir Stihl MS 231 / MS 251
MS 311/ MS 341/ MS 361 / MS 391 Rewind spring replaces Stihl MS 231 / MS 251
1135 190 0600 Rewind spring replaces Stihl MS 271/ MS 311 | 1143 190 0600

/MS 341 /MS 361/ MS 391

Page 2 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

OEM No.

4134 190 0601

Starterfeder passend fir Stihl FS 400 / FS 450
/ FS 480

Rewind spring replaces Stihl FS 400 / FS 450
/ FS 480

OEM No. Starterfeder passend fir Stihl FS 400 / FS 450
/ FS 480

4134190 0600 Rewind spring replaces Stihl FS 400 / FS 450
/ FS 480

OEM No.

4126 195 1600

Starterfeder passend fir Stihl FS72 / FS 80/
FR 85

Rewind spring replaces Stihl FS 72 / FS 80 /
FR 85

OEM No.

4130 195 1600

Starterfeder passend fir Stihl FS36 / FS 40/
FS 44

Rewind spring replaces Stihl FS 72 / FS 40 /
FS 44

OEM No. Starterfeder passend fiir S FS 55
Rewind spring replaces S FS 55

4140 190 0601

Page 3 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

(M)

OEM No. Seilrolle passend fiir Stihl 009 / 010 / 011

Starter pulley replaces Stihl 009 / 010/ 011
1120 007 1007

OEM No. Seilrolle passend fir Stihl 017 / 021/ 023/

MS 170 / MS 180 / MS 210 / MS 230 / MS 250
Starter pulley replaces Stihl 017 /021 / 023

MS 170 / MS 180 / / MS 210 / MS 230 /
MS 250

1123 195 0400

F N
L es
A\

OEM No. Seilrolle passend fir Stihl 024 / 026 / 028 / OEM No. Seilrolle passend fur Stihl 029 / 034 / 036 /
MS 240 / MS 260 044 / MS 290 / MS 310 / MS 390 / MS 440

1125 195 0401 Starter pulley replaces Stihl 024 / 026 / 028 1128 195 0400 Starter pulley replaces Stihl 029 / 034 / 039
/ MS 240 / MS 260 044 / MS 290 / MS 310 / MS 390 / MS 440

MS 640 / MS 650 / MS 660

OEM No. Seilrolle passend fir Stihl 064 / 066 / 08S / OEM No. Seilrolle passend fir Stihl 038 / MS 380
MS 640 / MS 650 / MS 660 Starter pulley replaces Stihl 038 / MS 380
1122 195 0400 Starter pulley replaces Stihl 064 / 066 / 08S / 1117 007 1014

Page 4 of 100



C Y
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

OEM No. Seilrolle passend fur Stihl MS 231 / MS 251 OEM No. Seilrolle passend fur Stihl FS 400 / 450 / 480

Starter pulley replaces Stihl MS 231 / MS 251 Starter pulley replaces Stihl FS 400 / 450 / 480
1143 195 0400 4128 195 0400

OEM No. Seilrolle passend fiir Stihl FS 160 / FS 180 / OEM No. Seilrolle passend fur Stihl FS 60 / FS 61 /
FS 220/ FS 220K / FS 280 / FS 280K FS66 /FS 80/ FS90

4119 195 0400 Starter pulley replaces Stihl FS 160 / FS 180/ | 4112195 0400 Starter pulley replaces Stihl FS60 / FS 61 /
FS 220/ FS 220K / FS 280 / FS 280K FS66 /FS80/FS90

OEM No. Seilrolle mit Feder passend fuir Stihl FS 72 /
FS80/FR 85
4137 190 1100 Starter pulley with spring replaces Stihl FS 72 /

FS 80/ FR 85

Page 5 of 100



)]
o

{
SPARE PARTS IBELJ

Replacement aftermarket parts for Stihl

OEM No. Klinke passend fiir Stihl 009 /010 /017 / 018
/021/023/025/026/028 /029 /036 /039
1125 195 7200 Pawl replaces Stihl 009 / 010 /017 / 018/ 021

/023 /025 /026 / 028 / 029 / 036 / 039

Klinke passend fur Stihl 038

OEM No.
Pawl replaces Stihl 038

1117 195 7200

OEM No. Klinke passend fir Stihl 064 / 066 / 084 /
088 /042AV /048 /050 /051 /056 /070 /08
1124 195 7200 Pawl replaces Stihl 064 / 066 / 084 / 088 /

042AV /048 /050 /051 /056 /070 /08

OEM No. Bremshebel passend fiir Stihl 08 / 041 / 045 /
050/051/070

1106 190 4600 Brake lever replaces Stihl 08 / 041 / 045 / 050
/051/070

OEM No. Klinke passend fur Stihl FS 120 / FS 300 /
FS 350/ FS 400 / FS 450 / FS 480
0000 195 7200 Pawl replaces Stihl FS 120 / FS 300 / FS 350 /

FS 400 / FS 450 / FS 480

Klinke passend fiir Stihl SG 17 / SG 17L
Pawl replaces Stihl SG 17 / SGL

OEM No.

4202 195 7200

Page 6 of 100



o

{
SPARE PARTS BEJC

Replacement aftermarket parts for Stihl

0104 101 01 04 102

OEM No. Feder passend fiir Stihl 029 / 039 OEM No. Feder passend fiir Stihl 064 / MS 640

Spring replaces Stihl 029 / 039 Spring replaces Stihl 064 / MS 640
1118 195 3500 1124 195 3500

Page 7 of 100



)]
o

{
SPARE PARTS IBELJ

Replacement aftermarket parts for Stihl

OEM No. Anwerfgriff passend fur Stihl 021 /023 /024 /
026/028/029/036/038/041 /044 /051
1121 195 3400 Starter handle replaces Stihl 021 /023 /024 /

026 /028 /029 /036 /038 /041 /044 / 051

OEM No. Anwerfgriff passend fur S FS 450

Starter handle replaces S FS 450
0000 190 3405

OEM No. Anwerfgriff ElastoStart ¢ 3,5 passend fiir
SFS120/200/250/300/350/400/ 450
0000 195 3405 Starter handle ElastoStart ¢ 3,5 replaces

SFS120/200/250/300/350/400/450

OEM No. Startergehause passend fir Stihl FS 400 / FS
450/ FS 480

4128 080 1801 Starter housing replaces Stihl FS 400 / FS 450
FS 480

Starterrad passend fir Stihl FS 38 / 45 / 46
Starter cup replaces Stihl FS 38 /45 / 46

OEM No.

4140 195 0601

OEM No. Starter passend fir Stihl FS 400 / FS 450 / FS
480

4128 080 2101 Starter replaces Stihl FS 400 / FS 450 / FS 480

Page 8 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

OEM No. Kraftstoffdeckel passend fiir Stihl 021 / 023 / OEM No. Kraftstoffdeckel passend fur Stihl 064 / 066 /
024 /025/038 084 / MS 640

0000 350 0520 Fuel cap replaces Stihl 021 /023 /024 /025 / | 0000 350 0530 Fuel cap replaces Stihl 064 / 066 / 084 /
038 MS 640

OEM No. Kraftstoffdeckel passend fur Stihl 045 /050 / | QEM No. Kraftstoffdeckel passend fur Stihl 020 / 030 /

051 /056 031/032
1110 350 0501 Fuel cap replaces Stihl 045 / 050 / 051 / 056 1114 350 0502 Fuel cap replaces Stihl 020 / 030 / 031 / 032

Page 9 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

0109101 01 09 102

OEM No. Oltankdeckel passend fiir Stihl 021 / 023 / OEM No. Oltankdeckel passend fiir Stihl 064 / 066 /
024 /025 /038 084 / MS 640
0000 350 0510 Oil cap replaces Stihl 021 / 023 / 024 / 025 / 0000 350 0520 Oil cap replaces Stihl 064 / 066 / 084 /
038 MS 640
0109103 0109 104

OEM No. Oltankdeckel passend fir Stihl 045 / 056 OEM No. Oltankdeckel passend fiir Stihl 051 alt
Oil cap replaces Stihl 045 / 056 Oil cap replaces Stihl 051 old
1115 640 3600
0109 105
OEM No. Olschauglass passend fiir Stihl 045 / 056

Oil sight glass replaces Stihl 045 / 056
1106 351 2200

Page 10 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

OEM No. Ansaugkrimmer passend fur Stihl 038 OEM No. Ansaugkrimmer passend fiir Stihl 045 / 056

Manifold replaces Stihl 038 Manifold replaces Stihl 045 / 056
1119 141 2200 1115 141 2200

OEM No. Ansaugkriimmer passend fir Stihl 064 / 066 /
MS 640 / MS 660
1122141 2201 Manifold replaces Stihl 064 / 066 / MS 640 /

MS 660

Page 11 of 100



{
SPAREPARTS BEIGS

)]

Replacement aftermarket parts for Stihl

OEM No.

1123 664 2400

Bundschraube passend fur Stihl 021 / 023 /

025
Collar screw replaces Stihl 021 / 023 / 025

OEM No.
1127 664 2405

Bundschraube passend fuir Stihl 029 / 039
Collar screw replaces Stihl 029 / 039

OEM No.
1127 664 2400

Bundschraube passend fuir Stihl 029 / 039
Collar screw replaces Stihl 029 / 039

OEM No.
1110 664 2400

Bundschraube passend fiir Stihl 041 / 045 /
056
Collar screw replaces Stihl 041 / 045 / 056

OEM No.
0000 953 6602

Bundschraube passend fur Stihl 050 / 051 /
08/070

Collar screw replaces Stihl 050 / 051 / 08 /
070

OEM No.

Oversized

Bundschraube passend fiir Stihl 029 / 039 ¢ 10
Collar screw replaces Stihl 029 / 039 ¢ 10

Page 12 of 100



C Y
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

OEM No.

1138 664 2400

Bundschraube passend fir Stihl MS 381 /441 | OEM No. Bundschraube passend fur Stihl 021

Collar screw replaces Stihl MS 381 / 441

Collar screw replaces Stihl 021
Oversized

Page 13 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

== IW;J?

OEM No.

1123 664 1605

Spannschraube passend fur Stihl 017 / 021 / OEM No. Spannschraube passend fur Stihl 041 / 045 /
023 /025 /MS 210/ MS 230 / MS 250 048 / 056

Adjusting screw replaces Stihl 017 / 021/ 1110 664 1600 Adjusting screw replaces Stihl 041 / 045 /
023 /025 /MS 210/ MS 230 / MS 250 048 /056

OEM No.

1118 664 1600

Spannschraube passend fir Stihl 028 / 038 OEM No. Spannschraube passend fiir Stihl 017 / 021 /
Adjusting screw replaces Stihl 028 / 038 023
1123 664 1605 Adjusting screw replaces Stihl 017 / 021 /
023

OEM No.

0000 951 2911

Spannschraube M6 passend fiir Stihl 050 /
051/070/08

Adjusting screw M6 replaces Stihl 050 / 051 /
070/08

Page 14 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

OEM No. Zundleitungsstecker 45° OEM No. Zindleitungsstecker 90°

Spark plug boot 45° Spark plug boot 90°
1113 405 1000 1106 405 1000

B

OEM No. Schenkelfeder 45° OEM No. Schenkelfeder 90°

Torsion spring 45° Torsion spring 90°
0000 998 0604 0000 998 0603

Page 15 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

OEM No. Olpumpe passend fiir Stihl 041 OEM No. Olpumpe passend fiir Stihl 051 / 075 @ 25

Oil pump replaces Stihl 041 Oil pump replaces Stihl 051 / 075 @ 25
1110 640 7100 1111 640 7111

OEM No. Olpumpe mit Bohrungen passend fiir Stihl OEM No. Olpumpe mit Zapfen passend fiir Stihl 050 /
050/051 @ 30 051 @ 30

Oil pump replaces Stihl 050 / 051 @ 30 Oil pump replaces Stihl 050 / 051 @ 30

Page 16 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

OEM No.

1123 640 7105

Schnecke passend fir Stihl 021 / 023 / 025
Worm replaces Stihl 021 /023 /025

OEM No.

11256407110

Schnecke passend fuir Stihl 029 / 039
Worm replaces Stihl 029 / 039

OEM No.
1128 640 7110

Schnecke passend fiir Stihl 044 / 046
Worm replaces Stihl 044 / 046

OEM No.
1122 640 7105

Schnecke passend fiir Stihl 064
Worm replaces Stihl 064

Page 17 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

OEM No. Stirnrad passend fur Stihl 028 OEM No. Stirnrad passend fiir Stihl 038
Spur gear replaces Stihl 028 Spur gear replaces Stihl 038
1118 640 7100 1119 640 7100

OEM No. Stirnrad passend fiir Stihl 048 / 042 OEM No. Stirnrad passend fiir Stihl 045 / 056
Spur gear replaces Stihl 048 / 042 Spur gear replaces Stihl 045 / 056
1117 640 7100 1115 640 7100

OEM No. Stirnrad passend fiir Stihl 045 / 056 OEM No. Stirnrad passend fiir Stihl 030 / 031 / 032

Spur gear replaces Stihl 045 / 056 Spur gear replaces Stihl 030 / 031 / 032
1115 640 7100 1113 640 7100

Page 18 of 100



C Y
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

-~
-y
| o
S A AN
OEM No. Stirnrad passend fir Stihl 038 alt OEM No. Stirnrad passend fir Stihl 028 / 038 / 048
Spur gear replaces Stihl 038 old Spur gear replaces Stihl 028 / 038 / 048
1116 647 1806
OEM No. Stirnrad passend fur Stihl 028 OEM No. Stirnrad passend fur Stihl 038
Spur gear replaces Stihl 028 Spur gear replaces Stihl 038
1118 642 1506 1119 642 1501

OEM No. Stirnrad passend fir Stihl 048 OEM No. Stirnrad passend fiir Stihl 045 / 056 / 030

Spur gear replaces Stihl 048 Spur gear replaces Stihl 045 / 056 / 030
1117 642 1503 1113 640 7100

Page 19 of 100



C Y
SPARE PARTS ISE= ..;o

Replacement aftermarket parts for Stihl

OEM No.

1115 007 1006

Stirnrad passend fur Stihl 045
Spur gear replaces Stihl 045

OEM No.

1115 640 7501

Stirnrad passend fur Stihl 056
Spur gear replaces Stihl 056

OEM No.

1116 647 1802

Stirnrad passend fir Stihl 031
Spur gear replaces Stihl 031

OEM No.

1119 642 1500

Stirnrad passend fur Stihl 038 alt
Spur gear replaces Stihl 038 old

Page 20 of 100




0123103

OEM No.
1128 664 0500

5

{
SPARE PARTS BEJC

Replacement aftermarket parts for Stihl

Rindestiitze passend fiir Stihl 029 / 038 / 039

/044 / 046
Bumper spike replaces Stihl 029 / 038 / 039

/ 044 / 046

Page 21 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

OEM No. Starterring passend fiir Stihl 041 / 045 / 08 OEM No. Gleitleiste passend fiir Stihl 024 / 026 / 029 /
Starter ring replaces Stihl 041 / 045 / 08 039/ 044

0000 961 5116 1121 648 6610 Bumper strip replaces Stihl 024 / 026 / 029 /
039 /044

OEM No. Staubschutz passend fir Stihl 070 OEM No. Schutzplatte passend fiir Stihl 050 / 051

Dust cap replaces Stihl 070 Guard plate replaces Stihl 050 / 051
1106 400 8201 1111 656 1505

OEM No. Kettenrad passend fur Stihl E14 / E16 OEM No. Saugkopf passend fiir Stihl 9mm

Gear drive replaces Stihl E14 / E16 Pickup body replaces Stihl 9mm
1206 640 7500

Page 22 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

0127 201 01 27 202
OEM No. Fadenkopf M10 x 1LHF OEM No. Fadenkopf M12 x 1.5LHF
Trimmer head M10 x 1LHF Trimmer head M12 x 1.5LHF
@ 135 @135
0127 203 0127 204

OEM No. Fadenkopf M12 x 1.5LHF

o Trimmer head M12 x 1.5LHF
145

OEM No. Fadenkopf M10 x 1LHF

o Trimmer head M10 x 1LHF
145

01 27 205 01 27 206
OEM No. Fadenkopf M14 x 1.5LHF OEM No. Fadenkopf M10 x 1LHF
Trimmer head M14 x 1.5LHF Trimmer head M10 x 1LHF
@ 145 ?120

Page 23 of 100



o

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Stihl

01 27 207 0127 208

OEM No. Fadenkopf M12 x 1.5LHF OEM No. Fadenkopf M10 x 1.5LHF
Trimmer head M12 x 1.5LHF Trimmer head M10 x 1.5LHF
@ 120 @135
01 27 209

==

OEM No. Fadenkopf M10 x 1.5LHM

o Trimmer head M10 x 1.5LHM
135

Page 24 of 100



{
SPAREPARTS BEIGS

)]

Replacement aftermarket parts for Stihl

OEM No.

Fits only to PEJO
trimmer head

Fadenspule OEM No.

Trimmer head replacement spool
Fits only to PEJO
trimmer head

Fadenkopf-Unterteil
Trimmer head base cover

OEM No.

Adapterbolzen linksgewinde M10 x 1 innen OEM No.

Adaptor bolt left hand M10 x 1 female

Adapterbolzen linksgewinde M12 x 1,5 innen
Adaptor bolt left hand M12 x 1,5 female

OEM No.

Adapterbolzen linksgewinde M14 x 1,5 innen OEM No.
Adaptor bolt left hand M14 x 1,5 female
Fits only to PEJO

auto cut head

Fadenfiihrung
Eyelet

Page 25 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No.

501 76 31-01

Starterfeder passend fiir Husqvarna 40 / 45 /
50/51/55

Rewind spring replaces Husqvarna 40 / 45 /
50/51/55

OEM No. Starterfeder passend fir Husqvarna 61 / 266
/268 /281/288

501 52 04-02 Rewind spring replaces Husqvarna 61/ 266 /
268 /281 /288

OEM No.

530 04 20-95

Starterfeder passend fur Husqvarna 137 / 142
/ 235e / 236e / 240e

Rewind spring replaces Husqvarna 137 / 142/
235e / 236e / 240e

OEM No. Starterfeder passend fir Husqvarna 340 /
340e / 345 / 345e /350 / 353 / 357xp / 359
537 09 31-01 Rewind spring replaces Husqvarna 340 /

340e / 345 / 345e / 350 / 353 / 357xp / 359

OEM No.

503 78 72-01

Starterfeder passend fir Husqvarna 365 / 371
/372

Rewind spring replaces Husqvarna 365 / 371
/372

OEM No. Starterfeder passend fir Husqvarna 380 / 480
Rewind spring replaces Husqvarna 380 / 480

501 40 22-01

Page 26 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No. Starterfeder passend fiir Husqvarna65/77/ | OEM No. Starterfeder passend fir Husqvarna 254 / 257
650/ 770 /262

501 40 22-01 Rewind spring replaces Husqvarna 65 / 77 / 501 63 02-03 Rewind spring replaces Husqvarna 254 / 257
650/ 770 /262

140E / 435E / 440E / 445 / 450

OEM No. Starterfeder passend fuir Husqvarna 135E / OEM No. Starterfeder passend fur Husqvarna 135 / 435
140E / 435E / 440E / 445 / 450 Rewind spring replaces Husqvarna 135 / 435
540 05 75-02 Rewind spring replaces Husqvarna 135E / 540 05 75-02

OEM No. Starterfeder passend fir Husqvarna 323R /

325R/ 326R

Rewind spring replaces Husqvarna 323R /
325R /326R

503 85 90-01

Page 27 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No. Seilrolle passend fur Husqvarna 36 /41 /136 | OEM No. Seilrolle passend fiir Husqvarna 40 / 45 / 245
/141 Starter pulley replaces Husqvarna 40 / 45 /
53006 93-13 Starter pulley replaces Husqvarna 36 / 41 / 506 01 64-01 245
136 /141

OEM No. Seilrolle passend fiir Husqvarna 51 / 55 OEM No. Seilrolle passend fir Husqvarna 340 / 345 /
Starter pulley replaces Husqvarna 51 / 55 350/ 445 / 450

505 30 37-35 53709 25-01 Starter pulley replaces Husqvarna 340 / 345 /
350/ 445 / 450

OEM No. Seilrolle passend fiir Husqvarna 135e / 340e / | OEM No. Seilrolle passend fur Husqvarna 137 / 137e /
345e / 435e 142 / 235e / 236e / 240 / 240e
537 42 32-01 Starter pulley replaces Husgvarna 135e / 545 05 82-01

Starter pulley replaces Husqvarna 137 / 137e /

340e / 345e / 435e 142 / 235e / 236e / 240 / 240e

Page 28 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No. Seilrolle passend fiir Husqvarna 351 / 353 / OEM No. Seilrolle passend fir Husqvarna 365 / 371 /
346XP 372 / 362 Special

503 87 63-01 Starter pulley replaces Husqvarna 351 /353 / | 503 8596-01 Starter pulley replaces Husqvarna 365 /371 /
346XP 372 / 362 Special

OEM No. Seilrolle passend fur Husqvarna 235/ 236 / OEM No. Seilrolle passend fiir Husqvarna 61 / 268 /
240 272

530 05 78-90 Starter pulley replaces Husqvarna 235/ 236/ | 503 10 24-05 Starter pulley replaces Husqvarna 61 / 268 /
240 272

OEM No. Seilrolle passend fur Husqvarna 61 /66 /266 | OEM No. Seilrolle @ 10 passend fiir Husqvarna 61

Starter pulley replaces Husqvarna 61 / 66 / Starter pulley @ 10 replaces Husqvarna 61
503 10 24-02 266 501 52 07-01

Page 29 of 100



)]
o

{
SPARE PARTS L]

Replacement aftermarket parts for Husqvarna

OEM No.

537 06 59-01

Seilrolle passend fiir Husqvarna 357XP / 359 OEM No.
Starter pulley replaces Husqvarna 357XP /
359 501 79 44-01

Seilrolle passend fuir Husqvarna 238 / 242 /
246

Starter pulley replaces Husqvarna 238 / 242 /
246

OEM No.

503 17 89-02

Seilrolle passend fuir Husqvarna 254 / 257 / OEM No.
262

Starter pulley replaces Husqvarna 254 / 257 / || 501 40 24-01
262

Seilrolle passend fiir Husqvarna 380 / 480 /
65/77/650/770

Starter pulley replaces Husqvarna 380 / 480 /
65/77/650/770

OEM No.

504 59 71-01

Seilrolle passed fur Husqvarna 135 / 435
Starter pulley replaces Husqvarna 135 / 435

OEM No.

505 15 81-01

Seilrolle passend fur Husqvarna 545 / 550 /
555/ 560xp / 562xp

Starter pulley replaces Husgvarna 545 / 550 /
555 / 560xp / 562xp

Page 30 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

o)

OEM No. Seilrolle passend fiir Husqvarna 232r / 235r / OEM No. gtszi)rt/e;;agz passend fir Husqvarna 380 / 480 /
322r

50377 53-01 Starter pulley replaces Husqvarna 232r / 235r | 5014027-01 Starter kit replaces Husqvarna 380 / 480 /
/322r 650/ 770

OEM No. Ergo Start-Feder passend fir Husqvarna 137e | OEM No. Ergo Start-Feder passend fiir Husqvarna 340e
/ 142e / 235e / 236e / 240e / 345e
53002 11-80 Spring EPS replaces Husqvarna 137e / 142e / 537 42 34-01 Spring EPS replaces Husqvarna 340e / 345e

235e / 236e / 240e

Page 31 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No. Buchse passend fir Husqvarna 137e / 142e / | OEM No. Buchse passend fiir Husqvarna 135e /340e /
530 05 96-77 Hub replaces Husqvarna 137e / 142e / 235e/ | 537 42 33-01 Hub replaces Husqvarna 135e /340e / 345e /
236e / 240e 4350

OEM No. Seilrolle mit Feder passend fur Husqvarna
323R/325R/326R
544 16 65-01 Starter pulley with spring replaces Husqvarna

323R/325R / 326R

Page 32 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No.

501 67 32-01

Klinke passend fiir Husqvarna 61 / 238 / 242
/246 /266 /268 /272 /281/288

Pawl replaces Husqvarna 61 /238 / 242 / 246
/266 /268 /272 /281 /288

OEM No. Klinke passend fur Husqvarna 285 / 380 / 480
/65/77/650/770

501 40 16-01 Pawl replaces Husqvarna 285 /380 / 480/ 65
/77/650/770

O

OEM No.

53709 31-01

Klinke passend flr Husgqvarna 357XP / 359
Pawl replaces Husgvarna 357XP / 359

OEM No. Klinkensicherung passend fiir Husqvarna 380
/480/65/77/650/770

501 40 23-02 Fuse of pawl replaces Husqvarna 380 / 480 /
65/77/650/770

OEM No.

503 78 32-01

Feder passend fiir Husqvarna
Spring replaces Husqgvarna

OEM No. Anwerfgriff passend fiir Husqvarna 40 / 55 /
61/262/ 268/ 272 /351/359/365/371
Starter handle replaces Husqvarna 40 / 55 /

61/262/268/272/351/359/365/371

503 54 39-01

Page 33 of 100



)]
o

{
SPARE PARTS L]

Replacement aftermarket parts for Husqvarna

OEM No.

503 61 56-01

Startergehduse passend fir Husqvarna 61 /
268 /272

Starter housing replaces Husqvarna 61 / 268 /
272

OEM No. Startergehduse passend fir Husqvarna 285 /
380/ 480

501 40 19-01 Starter housing replaces Husqvarna 285 / 380
/480

OEM No. Startergehduse passend fiir Husqvarna 65/ 77 | OEM No. Zylinderhaube passend fir H61 alt
/650/770 . Cylinder cover replaces H 61 old
501 43 02-01 Starter housing replaces Husqvarna 65 /77 / 501 68 60-06
650 /770 GRAU
un
1
—
acc—x]
a1
—_—
=]
j—cs}
F—
—
OEM No. Startergehause passend fiir Husqvarna 365 OEM No. Zylinderhaube passend fiir H61 alt
Starter housing replaces Husqvarna 365 Cylinder cover replaces H 61 old
503 62 82-01 501 68 60-06

ORANGE

Page 34 of 100



)]

{
SPARE PARTS L]

Replacement aftermarket parts for Husqvarna

o

T

‘ i
‘.‘ .

» \
{

T §
% r}

OEM No.

503 61 55-71

Starter passend flr Husqvarna 61 / 268 / 272

Starter replaces Husqvarna 61 / 268 / 272

Starter passend fur Husqvarna 380
Starter replaces Husqvarna 380

OEM No.
501 40 18-02

SERRRNRND
RRRRNREI

F =
-w__
|

-

-
)
/-

F

—

F

OEM No.

Starter passend fur Husqvarna 650
Starter replaces Husqvarna 650

Starter passend fur Husqvarna 365
Starter replaces Husqvarna 365

OEM No.

503 62 81-71

Page 35 of 100



{
SPARE PARTS L]

)]
o

Replacement aftermarket parts for Husqvarna

0208101
-ﬂ{ (

Kraftstoffdeckel passend fir Husqvarna 61 /
268 /272
Fuel cap replaces Husqvarna 61/ 268 / 272

OEM No.

501 43 14-02

OEM No.

537 21 52-02

Kraftstoffdeckel passend fir Husqvarna 353 /
357XP /359 /362

Fuel cap replaces Husqvarna 353 / 357XP /
359 /362

<@

Kraftstoffdeckel passend fir Husqvarna 365 /
371/372/340/345/346XP/350/351
Fuel cap replaces Husqvarna 365 /371 /372 /
340 /345 /346XP / 350/ 351

OEM No.
501 81 96-02

OEM No.

545 07 08-01

Kraft- und Oltankdeckel passend fiir
Husqgvarna 235 / 235e / 236 / 236e / 240
Fuel & oil cap replaces Husqvarna 235 / 235e
/236 / 236e / 240 / 240e

L

Kraft- und Oltankdeckel passend fiir
Husqgvarna 435 / 435e / 440 / 445 / 560

Fuel & oil cap replaces Husqvarna 435 / 435e
/440 / 445 / 560

OEM No.

544 11 12-01

Page 36 of 100



)]
o

{
SPARE PARTS L]

Replacement aftermarket parts for Husqvarna

OEM No.

501 76 56-02

Oltankdeckel passend fiir Husqvarna 36 / 41 OEM No.
/136 /137 /141 /142

Oil cap replaces Husqvarna 36 / 41/ 136/ 537 28 15-02
137 / 141/ 142

Oltankdeckel passend fiir Husqvarna 340 /
345 /350
Oil cap replaces Husqvarna 340 / 345 / 350

OEM No.

503 90 39-01

Oltankdeckel passend fiir Husqvarna 340 / OEM No.
345 /350
Oil cap replaces Husqvarna 340 / 345 / 350 501 62 66-02

Oltankdeckel passend fiir Husqvarna 61 / 268
/272
Oil cap replaces Husqvarna 61 / 268 / 272

Page 37 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No.

501 53 38-03

Ansaugkrimmer passend fir Husqvarna 61
Carburetor adapter replaces Husqvarna 61

OEM No.

503 49 24-01

Ansaugkrimmer passend flr Husqvarna 266
Carburetor adapter replaces Husqvarna 266

Page 38 of 100



{
SPAREPARTS BEIGS

)]

Replacement aftermarket parts for Husqvarna

OEM No.

537 3591-01

Kupplungsfeder passend fir Husqvarna 340 /
345 /350

Clutch spring replaces Husqvarna 340 / 345 /
350

OEM No.

503 74 43-01

Kupplungsfeder passend flir Husqvarna 365 /
371/372

Clutch spring replaces Husqvarna 365 / 371/
372

OEM No.
501 40 34-02

Kupplungsfeder passend fiir Husqvarna 61
Clutch spring replaces Husqvarna 61

OEM No.
53009 41-88

Kupplungsfeder passend fiir Husqvarna 36
Clutch spring replaces Husqvarna 36

OEM No.

503 57 74-01

Kupplungsfeder passend fiir Husqvarna 262
Clutch spring replaces Husqvarna 262

OEM No.
504 21 00-16

Kupplungsfeder passend fiir Husqvarna 40
Clutch spring replaces Husqvarna 40

Page 39 of 100



{
SPAREPARTS BEIGS

)]

Replacement aftermarket parts for Husqvarna

OEM No. Bundschraube passend fiir Husqvarna 61 /
268 /272 /281 /288

501 81 57-01 Collar screw replaces Husqvarna 61 /268 /
272 /281/288

OEM No.

501 53 71-01

=g

OEM No. Spannschraube passend fur Husqvarna 235 /
236 /240
530 01 61-10 Adjusting screw replaces Husqvarna 235 /.

236 / 240

Spannschraube passend fiir Husqvarna 61 /
266 /268 /272 /281 /288

Adjusting screw replaces Husgvarna 61 / 266
/268 /272 /281 /288

OEM No.

503 21 60-25

Zylinderschraube passend fiir Husqvarna
Bolt of cylinder replaces Husqvarna

Page 40 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No.

506 01 46-01

Federdampfer passend fiir Husqvarna 40 / 45
Jonsered 2041 / 2045 / 2050

Vibration absorber replaces Husqvarna 40 /
45 / Jonsered 2041 / 2045 / 2050

Federddmpfer passend fur Husqvarna 365 /
371 /372 Jonsered 2063 / 2071 / 2072
Vibration absorber replaces Husqvarna 365 /
371 /372 / Jonsered 2063 / 2071 / 2072

OEM No.

503 63 75-02

OEM No.

503 63 76-01

Federdampfer passend fiir Husqvarna 365 /
371/ 372 Jonsered 2063 / 2071 / 2072
Vibration absorber replaces Husqvarna 365 /
371/ 372 Jonsered 2063 / 2071 / 2072

Federdampfer passend fiir Husqvarna 365 /
371/ 372 Jonsered 2063 / 2071 / 2072
Vibration absorber for Husgvarna 365 /371 /
372 Jonsered 2063 / 2071 / 2072

OEM No.
503 89 56-01

OEM No.
503 85 41-01

Federdampfer passend fiir Husqvarna 340 /
346XP / 350/ 357XP / 359 Jonsered 2159
Vibration absorber for Husgqvarna 340 /
346XP /350 / 357XP / 359 Jonsered 2159

Page 41 of 100



OEM No.

530 01 44-10

Olpumpe passend fiir Husqvarna 136 / 137 /
141 /142

Oil pump replaces Husqvarna 136 / 137 /
141 /142

OEM No.

574 71 93-01

Olpumpe passend fiir Husqvarna 235/ 236 /
240
Oil pump replaces Husqvarna 235 / 236 / 240

)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No. Olpumpe passend fiir Husqvarna 40 / 45

Oil pump replaces Husqvarna 40 / 45
506 02 77-01

OEM No. Olpumpe passend fiir Husqvarna 51 / 55

Oil pump replaces Husqvarna 51 / 55
501 77 76-01

OEM No.

Olpumpe passend fiir Husqvarna 340 / 345 /
350
Oil pump replaces Husqvarna 340 / 345 / 350

Page 42 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No.

Satz Olpumpe passend fiir Husqvarna 36 / 41
/136 /137 /141/ 142

Oil pump kit replaces Husqvarna 36 / 41/
136 /137 /141 /142

OEM No. Satz Olpumpe passend fiir Husqvarna 40 / 45

Oil pump kit replaces Husqvarna 40 / 45

OEM No.

Satz Olpumpe passend fiir Husqvarna 235 /
236 /240

Oil pump kit replaces Husqvarna 235 / 236 /
240

OEM No. Satz Olpumpe passend fiir Husqvarna 340 /

345 /350

Oil pump kit replaces Husqvarna 340 / 345 /
350

OEM No.

Satz Olpumpe passend fiir Husqvarna 51 / 55
Oil pump kit replaces Husqvarna 51 / 55

Page 43 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

A

OEM No. Pumpenkolben passend fiir Husqvarna 36 / OEM No.

41/136/137/141/142 Pump piston replaces Husqvarna 40 / 45
530 02 98-38 Pump piston replaces Husqvarna 36 / 41 / 506 02 39-01

136/137 /141 /142

~

Pumpenkolben passend fiir Husqvarna 40 / 45

£, ===

OEM No. Pumpenkolben passend fir Husqvarna 51 /55 OEM No. Pumpenkolben passend fur Husqvarna 340 /
Pump piston replaces Husqvarna 51 / 55 345 /350
503 66 01-02 503 93 21-01 Pump piston replaces Husqvarna 340 / 345 /
350

OEM No.

Pumpenkolben passend fir Husqvarna 235 /
236 /240

Pump piston replaces Husqvarna 235/ 236 /
240

Page 44 of 100



C Y
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No. Schnecke passend fur Husqvarna 357XP /359 | OEM No. Schnecke passend fur Husqvarna 357XP / 359
(.325x7) (3/8x7)”

503 91 27-02 Worm replaces Husqvarna 357XP / 359 503 91 29-02 Worm replaces Husqvarna 357XP / 359
(.325x7) (3/8x7)”

OEM No. Schnecke passend fiir Husqvarna 346XP /351 | OEM No. Schnecke passend fir Husgvarna 350 (.325x7)
/353 (.325x7 RIM) Worm replaces Husgvarna 350 (.325x7)

503 89 21-02 Worm replaces Husqvarna 346XP /351 /353 | 503 8922-02
(.325x7 RIM)

OEM No. Schnecke passend fur Husqvarna 340 / 340e OEM No. Schnecke passend fir Husqvarna 455 Rancher
/ 345e / 445 / 445e (.325x7) / 455e
503 93 18-01 Worm replaces Husqvarna 340 / 340e / 345¢ || 537 2526-01 Worm replaces Husqvarna 455 Rancher /

/ 445 [ 445e (.325x7) 455e

Page 45 of 100



)]
o

{
SPARE PARTS L]

Replacement aftermarket parts for Husqvarna

OEM No.

501 51 38-01

Schnecke passend fiir Husqvarna 61 / 266 /

OEM No.
268 /272
Worm replaces Husqvarna 61 / 266 / 268 / 503 75 61-02
272

Schnecke passend fur Husqvarna 365 / 371/
372 /362

Worm replaces Husqvarna 365 /371 /372 /
362

OEM No.

537 20 78-05

Schnecke passend fiir Husqvarna 365 Special OEM No.
/372 XPW
Worm replaces Husqvarna 365 Special / 544 21 24-01

372 XPW

Schnecke passend fiir Husqvarna 435 / 435e /
440e
Worm replaces Husqvarna 435 / 435e / 440e

Page 46 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No.

501 20 33-01

Stirnrad passend fur Husqvarna 67 / 77 / 650
/770

Spur gear replaces Husqgvarna 65/ 77 / 650
/770

OEM No. Stirnrad passend fiir Husqvarna 65 / 77 / 650
/770

501 20 33-01 Spur gear replaces Husqvarna 65 / 77 / 650
/770

OEM No.

501 20 45-01

Stirnrad passend fur Husqvarna 65 / 77 / 650
/770

Spur gear replaces Husqvarna 65/ 77 / 650
/770

Page 47 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No. Seitenblech innen passend fiir Husqvarna 61 OEM No. Seitenblech auen passend fir Husgvarna 65
/268 /272 /77/650/770

501 81 48-01 Inner side plate replaces Husqvarna 61 / 268 501 44 45-01 Quter side plate replaces Husqvarna 65 / 77
/272 / 650/ 770

OEM No. Seitenblech innen passend fiir Husqvarna 61 OEM No. Seitenblech mit Gleitleisten passend fir
/266 /268 /272 Husgvarna 61 /268 /272

501 44 44-01 Inner side plate replaces Husqvarna 61 / 266 501 81 48-01 Inner side plate with bumper strips replaces
/268 /272 Husgvarna 61 /268 /272

OEM No. Seitenblech innen+aufen passend fiir OEM No. Auspuffblech passend flr Husqvarna 61 / 268
Husqvarna 61 / 266 / 268 / 272 / 281/ 288 /272
501 44 45-01 Inner+outer side plate replaces Husqvarna 503 53 59-01 Muffler plate replaces Husqvarna 61 / 268 /

61/266/268/272 /281 /288 272

Page 48 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

OEM No. Gleitleiste passend fur Husqvarna 61 / 268 / OEM No. Stop-Schaltergehduse passend fur Husgvarna
272 65/77/650/770

501 51 72-01 Bumper strip replaces Husqvarna 61 / 268 / 501 25 00-01 Contact breaker plate replaces Husqvarna 65
272 77 /650/ 770

OEM No. Staubschutz passend fiir Husqvarna 61 /266 | OEM No. Federgeh&use passend fir Husgvarna 61 /
/268/272 268 /272

501 83 17-01 Dust protection replaces Husqvarna 61 / 266 501 52 95-02 Spring housing replaces Husqvarna 61 / 268 /
/268/272 272

Page 49 of 100



)]
o

{
SPARE PARTS BELJ

Replacement aftermarket parts for Husqvarna

—B

a

OEM No. Choke Hebel passend fiir Husqvarna 61 / 266 /
268 /272

501 52 79-02 Choke lever replaces Husqvarna 61 / 266 / 268
/272

OEM No. Choke Hebel passend fur Husqvarna 365 / 371

Choke lever replaces Husqvarna 365 / 371
503 62 77-01

—e

~

OEM No. Gashebel passend fir Husqvarna 61 / 268 /
272

501 51 80-02 Throttle trigger replaces Husqvarna 61 / 268 /
272

OEM No. Sperrhebel passend fiir Husqvarna 61 / 268 /
272

501 51 81-02 Trigger interlock replaces Husqvarna 61 / 268 /.
272

Ny

@

650/770

OEM No. Gashebel passend fir Husqvarna 65/ 77 /650 | OEM No. Gashebel passend fiir Husqvarna 51 / 55
/770 Throttle trigger replaces Husqvarna 51 / 55
501 20 81-01 Throttle trigger replaces Husqvarna 65/ 77 / 503 09 79-04

Page 50

of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Husqvarna

02 26 101

OEM No. Saugkopf passend fir Husqvarna 5mm
Pickup body replaces Husqvarna 5mm

Page 51 of 100



)]

{
SPARE PARTS F'E..;C)

Replacement aftermarket parts for Husqvarna

02 27 201 02 27 202

OEM No. Fadenkopf M12 x 1,75LHF OEM No. Fafienkopf M12 x 1,75LHF
Trimmer head M12 x 1,75LHF Trimmer head M12 x 1,75LHF
@ 135 @ 145
02 27 203 02 28 201

=)
= 4
OEM No. Fadenkopf M10 x 1,25LHF OEM No. Adapterbolzen M12 x 1,75LHF
Trimmer head M10 x 1,25LHF Adaptor bolt M12 x 1,75LHF
@135
OEM No. Adapterbolzen M10 x 1,25LHF

Adaptor bolt M10 x 1,25LHF

Page 52 of 100



)]

{
SPARE PARTS F’E..;C)

Replacement aftermarket parts for Oleo Mac

OEM No.

004000132R

Starterfeder passend fiir Oleo Mac 931/932 | OEM No. Starterfeder passend fir Oleo Mac 936 / 940 /
/935/936/938/940 942 / 947 _

Rewind spring replaces Oleo Mac 931 /932 / 50050073R Rewind spring replaces Oleo Mac 936 / 940 /
935 /936 /938 /940 942 /947

OEM No.

098000060AR

Starterfeder passend fiir Oleo Mac 956 / 962 | OEM No. Startenfeder passend fiir Oleo Mac 446 / 746
/970/971/980/981 / 750/ 753

Rewind spring replaces Oleo Mac 956 / 962 / 004000132R Rewind spring replaces Oleo Mac 446 / 746 /
970/971/980/ 981 750/ 753

OEM No.
62030009

Starterfeder passend fiir Oleo Mac 453BP
Ergo
Rewind spring replaces Oleo Mac 453BP Ergo

Page 53 of 100



)]
o

{
SPARE PARTS BELJ

Replacement aftermarket parts for Oleo Mac

Seilrolle passend fiir Oleo Mac 936 / 940
Starter pulley replaces Oleo Mac 936 / 940

OEM No.

50050017AR

OEM No. Seilrolle passend fur Oleo Mac 937 / 941
Starter pulley replaces Oleo Mac 937 / 941

50170050R

Seilrolle passend fiir Oleo Mac 947 / 952
Starter pulley replaces Oleo Mac 947 / 952

OEM No.

50070050A

OEM No. Seilrolle passend fiir Oleo Mac 350S

Starter pulley replaces Oleo Mac 350S
4900022

OEM No. Seilrolle passend fuir 942 / 945AF / 946 / 950S
/ 950FS /951
Starter pulley replaces Oleo Mac 942 / 945AF

/946 / 950S / 950FS / 951

094500023

OEM No. Seilrolle passend fiir Oleo Mac 931 /932 /
935/938 /941

094000033AR Starter pulley replaces Oleo Mac 931 /932 /
935/938 /941

Page 54 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Oleo Mac

OEM No. Seilrolle passend fiir Oleo Mac 956 / 962 / OEM No. Seilrolle passend fiir Oleo Mac 941CX
970/971/980/ 981 Starter pulley replaces Oleo Mac 941CX
52010439CR Starter pulley replaces Oleo Mac 956 / 962 / 50170153R
970/971 /980 /981

OEM No.

62030010

Seilrolle passend fiir Oleo Mac 453BP Ergo OEM No. Seilrolle passend fuir Oleo Mac 446 / 746 /
Starter pulley replaces Oleo Mac 453BP Ergo 750/ 753 /755
4191018AR Starter pulley replaces Oleo Mac 446 / 746 /
750/ 753 /755

OEM No.

72700085BR

Seilrolle passend fiir Oleo Mac 727 / 730/
733 /740

Starter pulley replaces Oleo Mac 727 / 730 /
733 /740

Page 55 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Oleo Mac

OEM No.

50170154R

Ergo Start-Feder passend fiir Oleo Mac 941CX = OEM No. Buchse passend fiir Oleo Mac 941CX

Spring EPS replaces Oleo Mac 941CX

Hub replaces Oleo Mac 941CX
50170155R

OEM No.
62030016A

Buchse passend fiir Oleo Mac 453BP Ergo
Hub replaces Oleo Mac 453BP Ergo

OEM No. Seilrolle mit Feder passend fir Oleo Mac 453
BP Ergo
62030010 Starter pulley with spring replaces Oleo Mac

453 BP Ergo

Page 56 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Oleo Mac

e

OEM No.

62030012

Klinke passend fiir Oleo Mac 453BP Ergo
Pawl replaces Oleo Mac 453BP Ergo

OEM No.

4191020A

Anwerfgriff passend fiir Oleo Mac 446 / 746 /
750/ 753/ 755
Starter handle replaces Oleo Mac 446 / 746 /
750/ 753 / 755

OEM No.

61042001B

Starter passend fiir Oleo Mac 446 / 746 / 750
/753 /755

Starter replaces Oleo Mac 446 / 746 / 750 /
753 /755

OEM No.

4191150A

Ansaugkrimmer passend fir Oleo Mac 446BP
/ 453BP /746 / 753 / 755
Carburetor adapter replaces Oleo Mac 446BP
/ 453BP/ 746 / 753 / 755

Page 57 of 100



o

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Oleo Mac

03 27 201
OEM No. Fadenkopf M10 x 1,25LHF
Trimmer head M10 x 1,25LHF
@ 135
03 27 203
OEM No. Fadenkopf M8 x 1,25LHF
Trimmer head M8 x 1,25LHF
@ 135
03 27 205
OEM No. Fadenkopf M8 x 1,25LHF

o Trimmer head M8 x 1,25LHF
120

03 27 202

==

OEM No. Fadenkopf M8 x 1,25LHM
Trimmer head M8 x 1,25LHM
@135
03 27 204
OEM No. Fadenkopf M10 x 1,25LHM
Trimmer head M10 x 1,25LHM
@135
03 27 206
OEM No. Fadenkopf M8 x 1,25LHM
Trimmer head M8 x 1,25LHM
@ 120

Page 58 of 100



)]

{
SPARE PARTS BELJ

Replacement aftermarket parts for Oleo Mac

o

OEM No.

Fadenspule
Trimmer head replacement spool

OEM No.

Fadenkopf-Unterteil
Trimmer head base cover

OEM No.

Adapterbolzen M10 x 1,25LHF
Adaptor bolt M10 x 1,25LHF

OEM No.

OK24

Adapterbolzen M8 x 1,25LHM
Adaptor bolt M8 x 1,25LHM

OEM No.

Fadenflirung
Eyelet

OEM No.

Adapterbolzen M8 x 1,25LHM
Adaptor bolt M8 x 1,25LHM

Page 59 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Dolmar

OEM No.

Starterfeder passend fir Dolmar 100 /
100Super / 102

Rewind spring for Dolmar 100 / 100Super
/102

OEM No. Starterfeder passend fiir Dolmar 109 / 110i /
111/115/PS-43 / PS-52 / PS-540
020 163 031 Rewind spring for Dolmar 109 / 110i / 111/

115/ PS-43 / PS-52 / PS-540

OEM No.

123 163 012

Starterfeder passend fir Dolmar 112 / 114 /
117 /120/120s

Rewind spring replaces Dolmar 112 / 114 /
117 /120/120s

Page 60 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Dolmar

OEM No.

Seilrolle passend fiir Dolmar 100 / 100 Super
/102

Starter pulley replaces Dolmar 100 / 100 Super
/102

OEM No. Seilrolle passend fiir Dolmar 109 / 110/
111-51/115

027 162 032 Starter pulley replaces Dolmar 109 / 110/
111-51 /115

OEM No. Seilrolle passend fur Dolmar 112 /114 /117 / | OEM No. Seilrolle passend fiir Dolmar PS-34 / PS-36 /
120/ 120s PS-41 / PS-45
112 162 010 Starter pulley replaces Dolmar 112 / 114 / 036 162 010

117/120/ 120s

Starter pulley replaces Dolmar PS-34 / PS-36
/ PS-41 / PS-45

OEM No.

Seilrolle mit Feder passend fir Dolmar 100
Pulley with spring replaces Dolmar 100

Page 61 of 100



)]
o

{
SPARE PARTS BELJ

Replacement aftermarket parts for Dolmar

OEM No.

021 166 010

Klinke passend fiir Dolmar 100 / 100Super
Pawl replaces Dolmar 100 / 100Super / 102

OEM No.

119 166 020

Klinke passend fur Dolmar 112 / 114 / 117/
120/ 120s

Pawl replaces Dolmar 112 /114 /117 / 120/
120s

OEM No.

965 402 470

Anwerfgriff passend fur Dolmar 112 /114 /
117 /120/120s
Starter handle replaces Dolmar 112 / 114/
117 /120/120s

Page 62 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Dolmar

i

OEM No. Startergeh&use passend fiir Dolmar 109 / OEM No. Startergeh&use passend fir Dolmar 112 / 114
110i/111/ 115/ PS-43 / PS-52 / PS-540 /117 /119/120

020112180 Starter housing replaces Dolmar 109 / 110i / 119 112 070 Starter housing replaces Dolmar 112 / 114 /
111/115/ PS-43 / PS-52 / PS-540 117 /119/120

OEM No. Starter passend fiir Dolmar 109 / 110i / 111/ OEM No. Starter passend fir Dolmar 112 / 114

115/ PS-43 / PS-52 / PS-540 Starter replaces Dolmar 112 / 114
027 160 010 Starter replaces Dolmar 109 / 110i / 111/ 112112 300

115/ PS-43 / PS-52 / PS-540

Page 63 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Dolmar

OEM No.

021 184 020

Kupplungsfeder passend fiir Dolmar 100 / OEM No.
100Super / 102

Clutch spring replaces Dolmar 100 / 112184111
100 Super / 102

Kupplungsfeder passend fir Dolmar 109 / 110
/111-51

Clutch spring replaces Dolmar 109 / 110/
111-51

OEM No.

389213 080

Spannschraube passend fiir Dolmar 109 /
110i/111/ 115/ PS-43 / PS-52 / PS-540
Adjusting screw replaces Dolmar 109 /110i /
111/115/ PS-43 / PS-52 / PS-540

Page 64 of 100



{
SPAREPARTS BEIGS

Replacement aftermarket parts for Partner

)]

OEM No.

53002 75-31

Starterfeder passend fiur Partner 351 /371 OEM No.
Rewind spring replaces Partner 351 / 371

50529 51-10

Starterfeder passend fiir Partner 550 / 650 /
P55/P70/P 100

Rewind spring replaces Partner 550 / 650 /
P55/P70/P 100

OEM No.

53003 78-17

Seilrolle passend fur Partner 351 /370 /390 OEM No.
/420

Starter pulley replaces Partner 351 /370 / 506 07 14-01
390/ 420

Seilrolle passend fur Partner 550 / 650
Starter pulley replaces Partner 550 / 650

OEM No.

505 26 91-79

Klinke passend fur Partner 550 / 650
Pawl replaces Partner 550 / 650

OEM No.

530 04 97-00

Ansaugkrimmer passend fiir Partner 351/
371
Carburetor adapter replaces Partner 351 /
371

Page 65 of 100



Replacement aftermarket parts

———

)]

{
SPAREPARTS BEIS

for Partner

OEM No.

53006 96-11

Spannschraube passend fiir Partner 351 /371 | OEM No.

Adjusting screw replaces Partner 351 /371
53004 79-34

Federddmpfer passend fur Partner 351 / 370
/390/420

Vibration absorber replaces Partner 351 / 370
/390/420

OEM No.

530 04 20-82

Federdampfer passend fir Partner 351 / 370 OEM No.
/390/420
Vibration absorber replaces Partner 351 /

370/390/ 420

Satz Olpumpe passend fiir Partner 351
Oil pump kit replaces Partner 351

OEM No.

Pumpenkolben passend fiir Partner 351 /371 | OEM No.

Pump piston replaces Partner 351 / 371

Stirnrad passend fiir Partner 650
Spur gear replaces Partner 650

Page 66 of 100



)]

{
SPAREPARTS BEIS

Replacement aftermarket parts for Partner

OEM No.

Stirnrad passend fiir Partner 650
Spur gear replaces Partner 650

OEM No. Kettenrad passend fuir Partner / McCulloch
mit Lager
538 24 39-09 Gear drive replaces Partner / McCulloch with

bearing

Page 67 of 100



)]

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for Alpina

OEM No. Starterfeder passend fiir Alpina 40 / 45 /C40 | OEM No. Starterfeder passend fir Alpina 70
/ 540 / 600 Rewind spring replaces Alpina 70
4150120 Rewind spring replaces Alpina 40 / 45 / C40/ | 4150140
540 / 600

OEM No. Starterfeder passend fur Alpina VIP 42 / 52
Rewind spring replaces Alpina VIP 42 / 52

Page 68 of 100



{

)]

SPARE PARTS BEIJIC

Replacement aftermarket parts for Alpina

OEM No. Seilrolle passend fur Alpina 40 / 41 / 45 OEM No. Seilrolle passend fuir Alpina 330/380/432/
Starter pulley replaces Alpina 40 / 41 / 45 438
4560440 4560840 Starter pulley replaces Alpina 330 / 380/ 432
/438

// - . - \\))
- ad J
&é

Fa

Castelgarden 360 /370 /390 /410

OEM No. Seilrolle passend fiir Alpina-Castor OEM No. Seilrolle passend fur Alpina-Castor
Castelgarden 360 /370 /390 /410 Castelgarden 400 / 450 / 460 / 500 / 510
3750130 Starter pulley replaces Alpina-Castor 4563040

Starter pulley replaces Alpina-Castor
Castelgarden 400 / 450 / 460 / 500 / 510

Page 69 of 100



{ )]
SPARE PARTS BEIJIC

Replacement aftermarket parts for Alpina

" 2

600

OEM No. Klinke passend furr Alpina36/40/41/45/ OEM No. Anwerfgriff passend fiir Alpina VIP 42 / 52
540 / 600 Starter handle replaces Alpina VIP 42 / 52
3748440 Pawl replaces Alpina36/40/41/45/540/ 3750067

OEM No. Starter passend fir Alpina VIP 42 / 52 OEM No. Messerhalter passend fiir Castelgarden
Starter replaces Alpina VIP 42 / 52 Alpina BLA1E
4251510 22463186/1 Blade adaptor replaces Castelgarden Alpina

BL41E

Page 70 of 100



)]

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for Jonsered

OEM No. Starterferder passend fiir Jonsered 450 / 455 OEM No. Seilrolle passend fiir Jonsered 630
/ 510SP / 520SP / 525 / 535 Starter pulley replaces Jonsered 630
504 21 26-06 Rewind spring replaces Jonsered 450 / 455 / 501 52 07-01

510SP / 520SP / 525/ 535

Page 71 of 100



)]

{ 0
SPARE PARTS PEJO
Replacement aftermarket parts for McCULLOCH

OEM No. Seilrolle passend fiir McCULLOCH 930 / 935 OEM No. Seilrolle passend fiir McCULLOCH Titan 7 /
/940 Power Mac 310 /320/ 330

235372 Starter pulley replaces McCULLOCH 930 /935 | 213262-01 Starter pulley replaces McCULLOCH Titan 7 /
/940 Power Mac 310 /320/330

OEM No. Seilrolle passend fiir McCULLOCH 835 /838 / | OEM No. Klinke passend fir McCULLOCH 833/ 835/
839 Einhell 38cc / Shark 38cc 838 / 839 Einhell 38cc Shark 38cc
301043 Starter pulley replaces McCULLOCH 835 /838 | 216983

/ 839 Einhell 38cc / Shark 38cc

Pawl replaces McCULLOCH 833 /835 /838 /
839 / Einhell 38cc Shark 38cc

Page 72 of 100



)]

{
SPAREPARTS BEIS

Replacement aftermarket parts for ECHO

OEM No. Starterfeder passend fir Shindaiwa 269t /
ECHO CS 2600

P022-001330 Rewind spring replaces Shindaiwa 269t /
ECHO CS 2600

OEM No. Starterfeder passend fir ECHO CS 3000 /
CS 3400

P021045370 Rewind spring replaces ECHO CS 3000 /
CS 3400

OEM No. Seilrolle passend fur Shindaiwa 269t /
ECHO CS 2600

177215-60930 Starter pulley replaces Shindaiwa 269t /
ECHO CS 2600

OEM No. Seilrolle passend fiir ECHO CS 3000 / CS 3400
Starter pulley replaces ECHO CS 3000 /
17721535632 CS 3400

OEM No. Klinke passend fir ECHO CS-550EVL

Pawl replaces ECHO CS-550EVL
177 218-12330

OEM No. Ergo Start-Feder passend fur Shindaiwa
251TCS / ECHO CS 2511 TES
Spring EPS replaces Shindaiwa 251TCS /

ECHO CS 2511 TES

P022-036670

Page 73 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for PN

OEM No. Starterfeder passend fiir PN 2500 OEM No. Starterfeder passend fiir PN 4500 / 5200
Rewind spring replaces PN 2500 Rewind spring replaces PN 4500 / 5200

OEM No. Starterfeder passend fiir Diesel 5-7HP China OEM No. Starterfeder passend fiir Diesel 10HP China
Rewind spring replaces Diesel 5-7HP China Rewind spring replaces Diesel 10HP China

Page 74 of 100



{
SPAREPARTS BEIGS

)]

Replacement aftermarket parts for PN

OEM No.

Seilrolle passend fiir PN 2500
Starter pulley replaces PN 2500

OEM No.

Seilrolle passend fiir PN 4500
Starter pulley replaces PN 4500

OEM No.

13,5mm

Seilrolle passend fiir PN 4500 / 5200
Starter pulley replaces PN 4500 / 5200

OEM No.

Seilrolle passend fiir PN 3800
Starter pulley replaces PN 3800

OEM No.

12,5mm

Seilrolle passend fiir PN 4500 / 5200
Starter pulley replaces PN 4500 / 5200

OEM No.

13,5mm

Seirolle passend fir PN 4500 / 5200
Starter pulley replaces PN 4500 / 5200

Page 75 of 100



)]

{
SPARE PARTS IBELJ

Replacement aftermarket parts for PN

o

OEM No.

Ergo Start-Feder passend fuir PN 4500E /
5200E

Spring EPS replaces PN 4500E / 5200E

OEM No. Buchse passend fuir PN 4500E / 5200E
Hub replaces PN 4500E / 5200E

OEM No.

Seilrolle mit Feder passend fiir PN 4500E / OEM No. Klinke passend fiir PN 4500 / 5200

5200E

Starter pulley with spring replaces PN 450
5200E

Pawl replaces PN 4500 / 5200
OE /

OEM No.

Feder passend fiir PN 4500 / 5200
Spring replaces PN 4500 / 5200

Page 76 of 100



)]

{
SPARE PARTS IBELJ

Replacement aftermarket parts for PN

o

OEM No.

@ 10mm

Schnecke passend fiir PN 2500
Worm replaces PN 2500

OEM No.

Schnecke passend fiir PN 4500 / 5200
Worm replaces PN 4500 / 5200

OEM No.

@ 10,5mm

Schnecke passend fiir PN 3800
Worm replaces PN 3800

Page 77 of 100



o

{
SPAREPARTS BEIGS

Replacement aftermarket parts for PN

11 27 201 11 27 202

A&

—

OEM No. Fadenkopf M10 x 1,25LHF OEM No. Fadenkopf M12 x 1.25LHF

@120 Trimmer head M10 x 1,25LHF o Trimmer head M12 x 1.25LHF
1 135

Page 78 of 100



)]

{
SPAREPARTS BEIGS

Replacement aftermarket parts for Briggs&Stratton

OEM No. Starterfeder passend fiir Briggs&Stratton OEM No. gtggserfe‘jer passend fur Briggs&Stratton
3.5PS .

499901 Rewind spring replaces Briggs&Stratton 491889 Rewind spring replaces Briggs&Stratton
3.5HP 5.5HP

OEM No.

Seilrolle passend fiir Briggs&Stratton
Starter pulley replaces Briggs&Stratton

OEM No. Seilrolle ¢ 105mm passend fir
Briggs&Stratton 2PS / 3PS / 3,5PS / 4PS
280439-280117 Starter pulley ¢ 105mm replaces

Briggs&Stratton 2PS / 3PS / 3,5PS / 4PS

OEM No.

498144

Seilrolle mit Feder passend fur
Briggs&Stratton Quantum 5HP Horizontal
Starter pulley with spring replaces
Briggs&Stratton Quantum 5HP Horizontal

Page 79 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Briggs&Stratton

OEM No.

281505S

Klinke passend fiir Briggs&Stratton
Pawl replaces Briggs&Stratton

OEM No.

695128

Antriebsplatte passend fiir Briggs&Stratton
Pawl retainer replaces Briggs&Stratton

Page 80 of 100



( )]
SPAREPARTS BEIGS

Replacement aftermarket parts for Kawasaki

OEM No.

92081-2318

Starterfeder passend fir Kawasaki TH 43 / 48
Rewind spring replaces Kawasaki TH 43 / 48

OEM No. Starterfeder passend fiir Kawasaki TJ053E

Rewind spring replaces Kawasaki TJ053E
92145-0837

Page 81 of 100



o

{
SPAREPARTS BEIS

Replacement aftermarket parts for Kawasaki

OEM No.

59101-2067

Seilrolle passend fur Kawasaki TH 43 / 48
Starter pulley replaces Kawasaki TH 43 / 48

OEM No. Seilrolle passend fiir Kawasak TJ 053E

Starter pulley replaces Kawasaki TJ 053E
59101-0010

OEM No.

92145-0864

ErgoStart Feder passend fir Kawasaki TJ053E
Spring EPS replaces Kawasaki TJ 053E

OEM No. Buchse passend fiir Kawasaki TJ 053E

Hub replaces Kawasaki TJ 053E
49060-0556

OEM No.

Seilrolle mit Feder passend fiir Kawasaki
TJ O53E

Pulley with spring replaces Kawasaki TJ 053E

Page 82 of 100



{
SPARE PARTS BEIJIC

Replacement aftermarket parts for Kawasaki

)]

OEM No.

13165-2058

Klinke passend fir Kawasaki TH 43 / 48
Pawl replaces Kawasaki TH 43 / 48

OEM No.

14020-2057

Klinkenhalterung passend fiir Kawsaki
TH 43 /48
Retainer replaces Kawasaki TH 43 / 48

OEM No.

92081-2275

Feder passend fir Kawasaki TH 43 OEM No.
Spring clip replaces Kawasaki TH 43

46075-2129

Anwerfgriff passend fir Kawasaki TH 43 /48 /
TJ 053E
Starter handle replaces Kawasaki TH 43 / 48 /
TJ 053E

Page 83 of 100



$

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for Kawasaki

13 06 201 13 07 201

OEM No. Startergehduse passend fur Kawasaki TH 43 OEM No. Starter passend fiir Kawasaki TH 43 / TH 48
/48 Starter replaces Kawasaki TH 43 / TH 48
32099-2272 Starter housing replaces Kawasaki TH 43 /48 | 49088-2442
13 06 202 13 07 202

OEM No. Startergehause passend fiir Kawasaki TJO53E OEM No. Starter passend fiir Kawasaki TJ 053E
Starter housing replaces Kawasaki TJ 053E Starter replaces Kawasaki TJ 053E
32099-0707 49088-0711
1310201

OEM No. Ansaugkrimmer passend fir Kawasaki TH 43
/TH 48

16073-2176 Carburetor adapter replaces Kawasaki TH 43
/TH 48

Page 84 of 100



)]

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for Mitsubishi

OEM No.

KS02037AA003

Starterfeder passend fir Mitsubishi TL 43 / 52
Rewind spring replaces Mitsubishi TL 43 / 52

OEM No.

KS02037AA002

Seilrolle passend fur Mitsubishi TL 33 / 43 / 52
Starter pulley replaces Mitsubishi TL33 /43 /
52

OEM No.
KS03004AA002

Klinke passend fur Mitsubishi TL33 /43 /52
Pawl replaces Mitsubishi TL33 /43 / 52

OEM No.

KS03004AA003

Feder passend fiir Mitsubishi TL33 /43 /52
Spring replaces Mitsubishi TL 33 /43 / 52

OEM No.

Starterrad passend fiir Mitsubishi TL 33 /43 OEM No.
/52
Starter cup replaces Mitsubishi TL33 /43 /52 | KS20097AA001

Startergehiuse passend fir Mitsubishi TL 33 /
43 /52

Starter housing replaces Mitsubishi TL 33 / 43
52

Page 85 of 100




)]

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for Mitsubishi

OEM No. Starter passend fiir Mitsubishi TL33 /43 /52 | OEM No. Ansaugkrimmer passend fiir Mitsubishi TL 43
Starter replaces Mitsubishi TL33 /43 /52 /52

KS20037AA KK31019aa Carburetor adapter replaces Mitsubishi TL 43
/52

Page 86 of 100



)]

{
SPAREPARTS BEIS

Replacement aftermarket parts for Honda

OEM No.

28442-ZH8-003

Starterfeder passend fiir Honda GX 160 / 200
Rewind spring replaces Honda GX 160 / 200

OEM No.

Starterfeder passend fiir Honda GCV 135 / 160

Rewind spring replaces Honda GCV 135/ 160

OEM No. Starterfeder passend fiir Honda GX 240 / 270
/340/390

28442-ZE2-W01 Rewind spring replaces Honda GX 240 / 270 /
340/ 390

Page 87 of 100



OEM No.

1165

Starterfeder passend fiir Opem Mondial 145
/ 155/ 165

Rewind spring replaces Opem Mondial 145 /
155/165

)]

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for Opem

OEM No. Seilrolle passend fiir Opem Mondial 145 / 150
/155 /157 / 165

1118/p Starter pulley replaces Opem Mondial 145 /
150/ 155 /157 / 165

Page 88 of 100



)]

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for Tecumseh

OEM No. Starterfeder passend fiir Tecumseh LEV80 OEM No. Seilrolle passend fiir Tecumseh LEV80 /
Rewind spring replaces Tecumseh LEV80 LV195EA / Synergy
29780011 Starter pulley replaces Tecumseh LEV80 /
LV195EA Synergy

OEM No. Seilrolle mit Feder passend fur Tecumseh
LEV80

Pulley with spring replaces Tecumseh LEV80

Page 89 of 100



{
SPARE PARTS BEIJIC

)

Replacement aftermarket parts for Tiger

OEM No.

Seilrolle passend fur chinesischen Generator OEM No.
85mm

Starter pulley replaces Chinese generator
85mm

Seilrolle passend fiir chinesischen Generator
90mm

Starter pulley replaces Chinese generator
90mm

OEM No.

Klinke passend fiir chinesischen Generator
Pawl replaces Chinese generator

Page 90 of 100



)]

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for Solo

OEM No.

20 74 209

Klinke passend fiir SOLO
Pawl replaces SOLO

OEM No.

(SL6400243)

Schnecke passend fiir SOLO 639 / 644 / 645 /
646 / 650/ 651 /652

Worm replaces SOLO 639 / 644 / 645 / 646 /
650/ 651 /652

Page 91 of 100



)]

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for MTD

OEM No.

Ergo Start-Feder passend fir MTD 790 / 790M | OEM No. Buchse passend ftir MTD 790 / 790M

Spring EPS replaces MTD 790 / 790M

Hub replaces MTD 790 / 790M

OEM No.

753 04459

Seilrolle mit Feder passend fur MTD 790 /
790M

Starter pulley with spring replaces MTD 790 /

790M

Page 92 of 100



)]

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for Black&Decker

OEM No. Achse passend fiir Black&Decker GK 1630 / OEM No. Kettenrad Ritzel passend fiir Black&Decker
1635 GK 1630/ 1635
Shaft replaces Black&Decker GK 1630/ 1635 | 376812 iggoscket replaces Black&Decker GK 1630 /

OEM No. Kettenrad passend fiir Black&Decker GK OEM No. Kettenrad passend fiir Black&Decker GK 110 /
1630/ 1635 / 1640 / 1440 1200/ 1300/ 1330/ 1430/ 1435 / 1440
374830-49 Gear drive replaces Black&Decker GK 1630 / 323449-01 Gear drive replaces Black&Decker GK 110 /

1635 / 1640 / 1440 1200/ 1300/ 1330/ 1430/ 1435/ 1440

Page 93 of 100



)

{,
SPARE PARTS BEIJIC
Replacement aftermarket parts for Agria 6000

26 01 601 26 05 601

OEM No. Starterfeder passend fir AGRIA 6000 / OEM No. Anwerfgriff passend flirAGRIA 6000 /
IMT 506 IMT 506

AGRIA 093.27 Rewind spring replaces AGRIA 6000 / AGRIA 094.11 Starter handle replaces AGRIA 6000 /

IMT 506.05.102 IMT 506

IMT 506.05.015 IMT 506

Page 94 of 100



Replacement aftermarket

)]

{
SPARE PARTS BEIJIC

parts for agricultural machinery

OEM No.

Starterfeder passend fiir Lombardini LA 300 OEM No. Seilrolle passend fir DMB

Rewind spring replaces Lombardini LA 300

Starter pulley replaces DMB
5300028

OEM No.

Starterfeder passend fiir Tomos
Rewind spring replaces Tomos

Page 95 of 100



{
SPARE PARTS BEIJIC

)]

Replacement aftermarket parts for various models

Universal Abzieher
Flywheel puller

Universal

Anschlagschraube
Locking screw

OEM No. Sechskantmutter OK 19
Collar nut OK 19
0000 955 0801

Page 96 of 100



)

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for various models
00 27 201

Universal Fadenkopf universal Universal Fadenkopf universal bis @ 3mm
Trimmer head universal Trimmer head universal up to ¢ 3mm
@135
00 27 203 00 27 204

Fadenkopf M10 x 1,25LHF Universal Fadenkopf universal bis 5mm
Trimmer head M10 x 1,25LHF Trimmer head universal up to g 5mm
@ 120
00 27 205 00 27 206
OEM No. Fadenkopf M10 x 1,25LHM OEM No. Fadenkopf M8 x 1,25LHF

Trimmer head M10 x 1,25LHM o Trimmer head M8 x 1,25LHF
@ 135 135

Page 97 of 100



{
SPARE PARTS TSETJ

Replacement aftermarket parts for various models

00 27 207
OEM No. Fadenkopf M10 x 1,5LHF
Trimmer head M10 x 1,5LHF
@135
00 27 209
Universal Fadenkopf universal

Trimmer head universal

00 27 208

AL

—

OEM No. Fadenkopf M10 x 1,5LHM
Trimmer head M10 x 1,5LHM
@ 135
00 27 210
OEM No. Fadenkopf M10 x 1.5LHM

Trimmer head M10 x 1.5LHM
@120

Page 98 of 100



)]

{
SPARE PARTS BEIJIC

Replacement aftermarket parts for various models

Feder flr Fadenkopf
Trimmer head inner spring

Feder fiur Fadenkopf
Trimmer head inner spring

Feder fiir Fadenkopf
Trimmer head inner spring

Fadenspule
Trimmer head replacement spool

Fadenkopf-Unterteil
Trimmer head base cover

Page 99 of 100



)]

{
SPAREPARTS BEIS

Replacement aftermarket parts for various models

Universal

Anwerfseil 2,5mm 100m
Starter rope 2,5mm 100m

Universal

Anwerfseil 3,0mm 100m
Starter rope 3,0mm 100m

Universal

Anwerfseil 3,5mm 100m
Starter rope 3,5mm 100m

Universal

Anwerfseil 4,0mm 100m
Starter rope 4,0mm 100m

Universal

Anwerfseil 4,5mm 50m
Starter rope 4,5mm 50m

Universal

Anwerfseil 5,0mm 50m
Starter rope 5,0mm 50m

Page 100 of 100



NOTES




NOTES




NOTES




PEJO

oo
[ e

BRfe:



